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COMMON
COMMON
COMMON
COMMON
COMMON
COMMON
COMMON
COMMON
COMMON
COMMON
COMMON
COMMON

Pl S

** BAND MATRIX **
EMX(M), EMY(M)---GXY(M) : CONSTANT VALUE OF FLANGE(BENDING)
EXT, EYT...GTXY : CONSTANT VALUE OF FLANGE(TENSION)
EXB(M), EXT(M)---BR(M) :CONSTANT VALUE OF RIB

EXB(M) : BENDING EXT(M) : TENSION, BR(M) : BREADTH

SK() : SLIP MODULUS, SPACE(I) : NAIL SPACE, ROW(I) : NAIL ROW
MAT=1 (NCON(NELM, 4)=1), MAT=3 (NCON(NELM, 4)=1,2,3)

NODT, NELT, BAIN, MUD, NDIM1, IJJ, N, M, NOEE, MM, ABZ1(20)
EMX(10), EMY(10), POX(10), POY(10), GXY(10), IEP(170)

X(170), Y (170, Z(170), IXD(170), IYD(170), 1ZD(170), ISXD(170)
SM(24, 24), ESM(12, 12), ESPL(8, 8), K1(24), IXDD(170), ISYD(170)
KAKOM(100,5), D(5,3,3), CD(100,3,3), A(50000)

LCON(100, 4, 2), NCON(100, 4), EI(5), EA(5, 3), H(5), TH(100)
AA(12,12), BK(12,12), TB(12,12), IND(24), MAT, NUM, JAL(4, 2)
EXB(5,3), EXT(5,3),GK(5,3), BR(5, 3), NB, NEND, NM, MX, NLOAD
TPZ,RAB, NCAL, DELTX, DELTP, SLIP1, NST, UPPER, NREPR, MEND
EXC,EYT,PTX,PTY,GTXY, T(5), TA(600), XV(25), AV(25)

SK1(5), SPACE1(5), ROW1(5), SK(50, 4), SPACE(50, 4), ROW (50, 4)
IB1(20), ABX(20), ABY(20), ABZ(20), ABSX(20), ABSY(20), ABXX(20)

READ(5,100) NODT, NELT, NUM, MAT, MUD, MEND, NREPR, MCAL
100 FORMAT(1615)

C

CALL INPUT

DO 500 NST =1, MEND

C

410 MM=MUD+1
NM=N*MM-MM*MUD/2

C
DO 300 L=1,NM
300 A(L)=0.0
C
DO 105 M=1,NELT
C
CALL BCONDI
C
CALL ESMAT
CALL ESMPL
CALL RIB
C
CALL STORE
C

105 CONTINUE

C

IF(MUD.GE.MX) GO TO 405

MUD=MY
GO TO 410
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405 NB=NM+1

NEND=NM+N
C

CALL LOAD
C

NP1=N-1

IF(MUD.LE.NP1) GO TO 3000
WRITE(6, 3001)
3001 FORMAT(8X,’MUD SPECIFIED GREATER THAN ALLOWABLE’)
GO TO 999
C
3000 CALL CHOLES
CALL OUTPUT
C
ZZ=TA(NREPR)
IF(ABS(ZZ).GT. ABS(UPPER)) GO TO 999
500 CONTINUE
999 STOP
END

DTSR YT ADBEBERIRD LK THH, NODT : HiE# (170 F &+ %), NELT : &
RH (0L T &T%), NUM : =~ ABREME, AE XA THi0L (FAH, B 2
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INPUT : ANF ~ £ ~D5E2AAR, 3L ORIBAAREROBMEZTS.

A(L) : 26RltE~< 1+ Y » 2 ADLDOREER. FFECKTIERADRRERIX
A(50000) TH %,

BCONDI : SR &HDBRELIT S

ESMAT : B O MTHlE~<1 Y » 7 & ks DIERET5 o

ESMPL : EH OB AR~ F Y » 7 2 ke DFERZT5 o

RIB: iR (2 BETERER) O~ Y v 7 A ke Z{ERT %,

STORE : A7 »r /5 AT, £6RME~ Y » 7 2% AY F~ 1)y 7 ARTHELIS, XD
B, EROBIE~LY » 7 A%, BHAL) OBEGEBHCANLBIEXT S,

LOAD : HELHOBEEXTTY .

CHOLES: Ay F=t Vv 7 ALTROHEELERD S,

OUTPUT : HEERDOERIE RA T~ oDz h BFROBEEHT Yo

UPPER : $85%€ L fc i 1 5% z HRfED LR{E,

3.2 H$TN—Fo T4

DEDIB~I~— T TCRY T A —FVREAT AT R/ FATH D, THHLOPEITT
BT H DO CTHMAHBIEMT B2, AT~ 2 —OFARRHETS INPUT &0t
DA, BEZOHEEL 3. 2. 1CF; L THL
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SURROUTINE INPUT

COMMON  NODTSsNELT,BAINIMUDSNDIML»IJJsNsMyNOEEIMMsABZ1(20)

COMMON  EMX(10)9EMY(10)sPOX(10)5POY(10)9GXY(10)» JEP(170)

COMMON  X(170)sY(170),2(170)sIXD(170),1YD(170)»12DC170),1SXD(170)
COMMON  SM(24924)9ESM(12512)+ESPL(858)2K1(24)21XDD(170)+15YD(170)
COMMON KAKQOM(10095)9D(553+3), CD(100+2393)y A(50000)

COMMON  LCON(100:452)s NCON(10054)5E1(5)s EA(553)s H(5)» TH(100)
COMMON  AA(12512)9RK(12512)5TB(12512) 5 IND(24),MATINUM,JAL (452)
COMMON  FXR(593)s EXT(533)s GK(553)s BR(553)sNBINENDsNMIMXsNLOAD
COMMON  TPZ,RABNCALSDELTXsDELTP»SLIP1sNSTUPPERSNREPRyMEND
COMMON  FXCHFYTsPTXHPTYsGTXYsT(5)sTA(K00)s XV(25)5,AV(25)

COMMON  SK1(5)sSPACEL(5)sROWL(5)95K(5094)sSPACE(50+4),ROW(50124)
COMMON  IB1(20)5ABX(20)sABY(20)5ABZ(20)2ABSX(20)+ABSY(20)ABXX(20)

NDIM1=50000
NOFE=24
Mx=1

N=0

MAXM=0
Tp7=0,

FORMAT(1615)
FORMAT(5F15,6)
FORMAT(8F10.0)

DO 20 T=1,NELT

READ(S,11) La(KAKOM(LsJ) s J=155)
KAKOM(L 95)=KAKDM (| »5)+1
IF(KAKOM(L25) .GT . MAXM) MAXM=KAKUM({L5)
COMTINUE

H#RITE(H9355)
FORMAT (1HOsSHNODE , 92X »3HIXRs2Xs3HIYR92X»3HIZR»1X»4H]SXR)
1Xs4HISYRILXHOHIXRRaBX s 4HX (T ) 96X 4HY (1) 22X 23RIEP )

READ(5,26) RATX3BATYs UPPERIRABSBAIN

e 30 I=1,N0DT

READ(5,25) LyIXReTYRYIZRHISXRyISYRSIXKRRyX(L)I>Y(L),HIS
FORMAT(I3,1X961152F10,.0,15)
Iep(L)=IS

IFCIXR)Y 205,706,205

MxAi+]

IXB(L)=N

a0 TN 207

IXP(L)y=NDIM]Y

IF(IYR) 2085209207

NeMe ]

Tyn(L)=n

G0 TO 210

IYD(L)=ND]M]

IFCIZR)Y 305,3065305

NaN+1

1Z0 )y=N

GO0 TO 307

1Zn(L)y=nDIM]
IF(ISXR) 308+309+308
N2N+}

ISXD(L)Y=N
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GO TO 310
ISXD(L)=NDIML
IFCISYR) 311+312.311
Nz=N+1

ISYD(L)Y=N

GO TN 520
1SYD(L)=NDIM]
IF(IXRR) 5215221571
NzN+1

IXDD(L) =N

GO0 TN 35
IXDDCLy=NDIMI
CONTINUE
XL)Y=X(LI#RALX
Y(L)=Y(L)#RATY

WRITE(A9322) LalXRyIYRIIZRIISXRIISYRyIXRRX(L)»Y(L)2JEP(L)
FORMAT(1H »71552F10.2515%5)

CONTINUE

NG 315 I=1sMAXM
READ(5:26) EMX(I)sEMY (D) ,PUXCT)sRPOY(I)»GXY(I)sTC])

5 CONTINUE

READ(5526) FEXCHsFYT PTXH3PTY,,GTXY
N0 351 I=1MAT

10 351 Jz1sNuUM

READ(5,526) BRUIsJIEXRITs I sEXTCLsd)sGK(T,4J)
READ(5926) (H(1)31=1,3)

DO 352 I=1sMAT

READ(528) SK1(1)sSPACELI(I)sRUWL(])
FORMAT(8F10,2)

N0 360 K4=1,NELT

READ(S5511) My ((LCON(Ms>ILs ) sJL=Ls2)sIL=1s4 )
DO 365 KS5=z14NELT

READ(5,11) My (NCON(MyIN)yINZ]s4 )

NRITE(6265)  NUODTSNELToNUMsMAT s MUD s MEND s NREPRZNCAL

FORMAT(IHO» "NODT =" s 1393X s 'NELT="21%393Xs ' NUMS'y 123X "MAT="512,3X
P PMUD=" 3 1393Xy "MEND="51353X, '*NREPR="51%,3Xs 'NCAL="51?)

WRITE(6s70)

FORMATCIHO 9w 1X s4HELEMs 3Xy L4HKAKNIM( L 9 JsKsL ) s5X s 3HMAT)

00 71 [=1sNELT

WRITE(6572) 1s(KAKOM(15J)5J=155)

FORMAT(1H »615)

WRITE(A573)

FORMAT (1HO »3HNO . »5X s 3HEMX 311X s 3HEMY s 11X 2HPX 3 11X, 2HPY » 12X 9 BHGXY)

WRITE(A76) (ToE™MXCI)2EMY(I)sPOXCI)sPOYCTI)»GXY(I) 9 T(I)sI=1,yMAXM)

FORMAT(1H 21391P6E14.5)

WRITE(6975)

FORMAT (1HO»2X 9 3HNUMSX s 6HEXB (1) 95X, 6HEXT (1) s6X,5HAGK( 1)

6Xs5HBR(T) )
DO 77 1=1»MAT
DO 77 Jzl,NuM

WRITE(6978)  JrsEXB(LsJ)sEXT(IsJ)sGK(I5J)sBR(1sJ)
FORMAT(IH »21594F11.3 )

WRITE(6+83)

FORMAT(1HO 22X s 3HNUM 98X s 4HH(]) )

WRITE(6984) (IsH(I)»I=1+3 )

FORMAT(1M 215,5X>F10.5 )
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DO 320 NE=1,NELT
DO 320 1=1.3
DO 320 J=1,3

320 CD(NEs1»)=0.0
NO 321 I=1sMAXM
N0 321 J=1.3
DD 321 K=1,3

321 N(1+JsK)=0.0

PO 325 [=1sMAXM
Vz1,0=-POX(T)#POY(])
N(Tsls))=EMX(I)/V
N(Is192)=POXCIIREMY(])/V
NT19291)=20(15192)
N(1»2,2)=EMY (1) /Y
D(T12353)=GXY(])

225 CONTINUE

DO 350 NE=1oNELT
I=KAKQMINE5)
DO 350 J=1.3
N0 350 K=1+3
CDINE 3 Js K )=D(1rJsK)
TH(NE)=T(])

350 CONTINUE
WRITE(693) N

3 FORMAT(LIHOs10HN (INPUTY=»13)

N3 370 I=1sMAT
El(l)=0,
0 370 J=lsNUM
HM=H(J+1)=H(J)
Tl = BR(I,J)#HMRR3/12,
FICDI=FT (D) +TIEXB(TJ)
370 EACIsDISEXT(I 2 BRI s J)#(H(J+1)=H(J))
WRITF(62374) .
374 FOPMAT(LHO 'FLEMENT AND LCNN(MsILsJL) NCONC(MsI)* )
N0 375 M=1,.NELT
275 WRITE(6+3378) My ((LCON(Ms T2 J)9Jzls2)0)=194)y(NCON(MK)sK=194 )
378 FORMAT(LIH 35X215:5X981535X,415 ) :
WRITF(A9379)
379 FORMAT(1HO0»2X s 3HMAT $2X s 3HNUM 10X sSHET (1)} sBXes7HEA(I s )
N0 380 [=1»MAT
NRITF(A9381) IrFICD)
DO 380 J=1linNUM
WRITE(/9382) JsFA(IsJ)
380 COMTINUE
381 FORMAT(1H »1595X+1PE15.2 )
387 FORMAT(LIH 2]1103515XsF15.5 )

N0 385 wm=]sNFLT
D0 385 I=1y4

SK(Ms1)=0,
SPACE(Ms1)=0.
385 ROW(M,1)=0.

DD 386 M=1,NELT

DO 386 l=1y4
TC=NCON(M, 1)
IF(IC.EQ,0) GO TO 386
SK(Ms1)=SK1(ICQ)
SPACE(M»1)=SPACEL(IC)
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386 ROW(M,13=ROW1(IC)

WRITE(6,387)
387 FORMAT(IHO, "NELM' 35X 1 y4Xs"SK(MaT)"51X, 'SPACE (M) "y 3X
# s 'ROW(MS 1))
DG 390 M=1.NELT
DO 390 I1=1-4
IC=NCON(M,y 1)
IFCIC,EQ,0) GO TO 390
WRITF(49388) MslsSK(My1)sSPACE(M, 1) sROW(M,T)
288 FORMAT(1H »21551P3F11,2)
390 CONTINUE

READ(5,400) NLOAD
400 FORMAT(I5,6F10.0)

WRITF(65405)
605 FORMAT(LHD, '4HNONE* 93X, "X=-FORCE ', 3X'Y-FORCE' 33X "Z~FORCE'»1X,
# CSX=MOMENT " 91Xy 'SY-MOMENT* 32X s ' XX-FORCE" )
DO 411 L=1,NLOAD
READ(55400) IR1(L)»ABX(L)»ARY(L)»ABZ(L)»ARSX(L)sABSY (L) sARXX (L)
WRITE(65410) IRLCL)»ABX(L) sABY (L) 9ABZ (L) »ARSX (L) sARSY (L) s ARXX (L)
ABZ1(L)=ABZ(L)
410 FORMAT(1H »s1456F10.2)
411 CONTINUE
N6z6%¥NODT
N0 415 [=1sNé
415 TA(1)=0,

READ(5,515) (AV(T),I=1sNCAL)
READ(5:26) (XV(I)>1=15NCAL)
READ(5,26) SLIP1sDELTXSDELIP
WRITF(65430)
430 FORMAT(IHO»1X s 'NCAL's6Xs "AVII)'s7Xs'XV(I)")
WRITF(6s435) (1sAV(I)sXV(1)s[=1sNCAL)
435 FORMAT(1H s1551PE15,535Xs0PED,2 )
WRITE(6+440) NREPRIUPPER»RABs SLIPL,DELTX,DELTP
440 FORMAT(1HOs 'NREPR=';13,10Xs'UPPERS'3F8.2910Xs 'HABSt4F5,1/1H »
#* tSLIPI='sFB.2210Xs "DELTX="3FB.2210Xs *NELTP="4F8.2 )

RETURN
END

SURRDUTINE BCONDI

COMMON  NODTINELT,RAINsMUDINDIML s [JJIoNsMsNOEE sMMsARZ1(20)

COMMON  FMX(10)sFMY(10)sPOX(10)sPUY(10)2GXY(10)y IFPCL70)

COMMON  X(170)sY(170)+ZC170)sIXDCL70),TYDCLI70)21Z0(170)51SXDC170)
COMMON  SM(24924),FSM(12512)9ESPLIRIB)»K1(24)I1XDD(170)21SYDC170)
COMMON  KAKOM(100,5):D(59393), CD(100+393)y A(50000)

COMMON  LCON(10035492)s NCONCI00s4),EI1(S)y EA(5:3)r H(S5)s TH(100)
COMMON  AA(12312)9RBK(12512)»TB(12512)sIND(24)sMATINUMyJAL (492)
COMMON  EXR(5393), EXT(533), GK(553)s BR(593),NBsNENDsNMsMX,NLOAD
COMMON  TPZsRABSNCALSDELTXsDELTP+SLIP1yNSTsUPPERINREPRIMEND
COMMON  EXCsEYTaPTXsPTYsGTXYsT(5)sTA(600), XV(25),AV(25)

COMMON  SK1(5)s»SPACE1(5)+ROW1(5)35K(5094),SPACE(50+4),ROW(5094)
COMMON  IB1(20)sABX(20)2ABY(20)sABZ(20)9ABSX(20),ARSY(20)+ABXX(20)

11=KAKOM(Ms1)
JJ=KAKOM(Ms2)
KK=KAKOM(M»3)
LL=KAKOM(Ms4)
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75
76
85
a0

Ki(ly=ix
Kie2)=1Y
K1(3)=12
K1(4)=1S
K1(5)=1S
K1(6) =
K1(7) =
K1(8) =
K1(9) =
K1(10)
K1(11)
K1(1?)
K1(13%)
Ki(14)
K1(1%)
K1(16)
K1¢17)
Ki(18)
K1(19)
Ki1(20)
K1e21)
K1(22)
K1(23)
K1(24)

(I U I T T T TN 1 S T T IO S O T T 1)

H0 90 LP
ng 90 mp
FFe(K1(L
MDI=K1(L
IF(MDT)
MDI=-MN]
IF(MDI-M
MX=MD]
CONTINUE
RETURN
FND

SURRMUTI

COMMAON
CoMMaON
COMMNN
CaMMON
COMMON
COMMON

CCOMMAN

COoMMON
COMMNN
COMMON
COMMON
CoMMON

11=KAKNM
JJ=KAKOM
KK=KAKNM
LL=KAKOM
XI=X(11)
XJ=X(JJ)
XK=X(KK)
XL=X(LL)

T H # F

D(IL)Y
D(Il
0(11)
XpD(Il)
Yo(rn
IXpDCIn)
IXDCJL)
1Y
120040
I1SXD(JIJ)
1SYD(JJ)
1XDD(JJ)
IXD(KK)
[YDIKK)
1Z7D(KK)
ISXD(KK)
ISYD(KK)
[XDD(KK)
IXDOLL)
1YDCLL)
1ZDCLL)
1SXDLL)
1sYDILL)Y
IXDD(LL)

=1sNOEE

=L Py NQOFE

P),GE.NDIML) ,OR, (KT (MP)Y,GcE NDIMLY) G0 TO 90
P)-K1(MP)

75+76976

X) 905y90,85

NE ESMAT

NODTaNELT»FAINSMUDSNDIML, 1SNy My NOEF s MM, ARZTI (20)
FMX(10),FMY(10),POXII0)POYCL0) sGXY(10), TEP(170)
X(170),YC(170)92¢170)51XDC170)51YDC170),120¢170)s1SXD(170)
SM(24324) 3 FSM(12912)sESPLIBB)sK1(24),1XDD(170),18YD(170)
KAKOM(10055)9D(55353)y CD(1005393)s A(S50000)
LCONT{1005492)y NCON(LI0094)sE1(5)s FA(S93)y HH)y TH(IOM
AA(17512)sPK(12512)9TB(12512) 5 INN(24) sMAT HNUMy JAL(452)
EXA(593)s EXT(5,3)s GR(5s3)s BR(543),NBsNEND>NMsMXsNLDAD
TP2 sRARSNCALsDELTX,DELTP,,SLIPL,NST,UPPER,NREPRSMEND
FXCoaFYTaPTXsPTY S GTXYT(5)»TA(600)s XV(25),AV(25)
SK1(5)sSPACEI(S5)sRNWI(5)s5K(5024)2sSPACE(50,4)sROW(50+4)
I81(20),ABX(20),ABY(20),ABZ(20) 2ABSX(20)2ABSY(20),ABXX(20)

(Ms1)
(Ms2)
(Ms3)
(My4)



-
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T AL ORI 57 5 7 5 A

YIi=Y(ID)
YJd=Y(JJ)
YK=Y (KK)
YL=Y(LL)

XJ1=XxJ-x1
YL1=YL-Y]
X DX JH#2=x %32
YL2sYL##2-Y] 332
XJR=X J#3=X]#3#3
YLRSYL#%2=Y[#3#3

71=XJ1%YL1

IX=XJ2%YL1/2.0
2Y=XJ1%Y1.2/72.0
IXY=XJP2#YL2/6,0
ZX2sXJ3%YL1/3,0
2y?2=XJ1#YL3/3 .0
IX2Y=XJ3%YL2/6.0
7XY2=XJ2%YL3/6.0
IXPY2=XJ33YL3/G,0

TXZ= (X sa-XTska)8YL1/4.0
IX3Y=(XJu#a-XT%%4)8YL2/8.0
IXY3=XJ 2% (YL%%A-Y[%3%4)/8.0
ZY3=XJIL YL #xb-Yn4) /0,0
IX4z (X JRn5-XIux5)YL1/5.0
7YLX IR YLESS-Y I un5) /5,0

DO 2150 I=1,12

np 2150 J=1,12
RK(T,J)=0,0
AK(494)54,08C0(M>191)371
RK(495)==4,08CN(My] 93)%Z1
AK(496)=6,08#CDCHMs102) 571

AK (4273212, 08CH{M3191)%#2X

BK(498)=4 ,0%CD(M>191)I%ZY=8.0%CD(My1y3)HLX

QK (&99)24, 0%CHB(Ms1s2)#ZX=-8,0%CD(MsTr3)xLY
AK(4310)=12.08C0(M>192)37Y
BK(4511)=12.0%C0(M»1»]1)%ZXY-12,0%CN(My193)02X2
AK(4912)=12,0%CD(Mr 122087 XY=-12.0%CD(M,193)22Y2
AK(525)=4 , O¥CO(Ms3,3)5%21
RK(516)=-4.0%CD(M2,53)3Z1
AK(557)=-12,0#CD(My193)37ZX
AK(598)=8,04CD(M>393)%7X~4.,0%CD(My1y3)32Y
BK(5+9)=R, 08CD(Ms3,3)3%2Y-4,0%CD(Ms293)%LX
RK(5910)z=12.0%CN(M>2,3)%2Y
BK(5511)=12,0%CD(M9353)372X2-12,0%CN(Ms123)0nZXY
AK(5512)=12.0%CD(Ms393)3#2Y2=-12,0%CD(Ms253)%ZXY
BK(696)34,0%CD(M2,2)%21
RK(637)212.0%CD(Ms152)32X

BK(698)24 ,0#CD(Ms1+2)%2Y-8,08#CD(Ms293)%ZX
RK(6>9)=4,0%CD(Ms2,2)#ZX-8.0%CD(My253)%ZY
BK(6+10)=12,0%#CD{Ms22)%ZY
BK(b’ll)=12.0§CD(M,1,2)§ZXY-12.0*CD(M,Z:B)*ZXZ
BK(6s12)=12.,0%8CD(M»292)#ZXY~12,0%CD(M9293)32Y2
BK(797)=36.0%CD(Ms1,51)%ZX2
BK(7+8)=12,0%CD(My1s1)3ZXY-24,0%CO(Ms193)%7X2
BK(7+9)312.0%CD(My1,2)%ZX2-24,0%CD(Ms193)32ZXY
BK(7510)=36,0%CD(Ms1,52)3ZXY .
BK(7+11)336,03%CD(Ms1>1)#ZX2Y-36,0%CD(Mr193)3%ZIX3

BK(7212)=36,0#CD(Ms192)%#2ZX2Y~36,0%CD(M2193)#2XY2

1
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C
2250
¢
2751
C
C
101
22
c
C
C

i B A

BK(BrB) =4, 0%CD(MI1s1I#ZY2416,0HCD(Mr393)#2X2~16,0%CD(Mr193) #IXY
BK(Bs9)=64;0%CD(M»1s2)%2XY+16,0%CO(Mr>323) HZXY =B, 0%CO(My293) ¥ZX2
1 w8,0%#CD(Mr»193)22Y2
BK(8,10)=212,0#CD(Ms1+2)#2Y2=-24,0%CD(M»293)HZXY
BK(8s11)=12,08CO(Ma191)HZXY2+24,0%CD(Ms3+3)8ZX3

2 =36,0%#CD(Ms1s3)8ZX2Y
BK(812)=12,0%#CD(Ms192)%#ZXY2+24 ,0%CD(M»393)%ZIXY2
3 ~24,0%CD(M»253)%ZX2Y~12,0%CD(Mr»193)%2ZY3

BK(999)=4,0%CD(M»252)3#ZX2+16,0%CD(M»3,3)%2Y2-16,0%CD(M2293)%ZXY
BK(9s10)=12,0#CD(My2,2)%ZXY~24,0%CD(My293)%ZY2
BK(9911)=12,0#CD(M»291)3ZX2Y+24,0%CD(M2393)32X2Y

3 ~12,0%CD(M3223)%2X3~24,0%CD(Mr193)%ZXY2
BK(9912)=12,0#CD(Ms252)HZX2Y+24,0%CD(M»353)%2Y3

1 =36, 0#CD(Ms253)%2XY2
RK(10510)=236,0%#CD(My2,2)3%2Y2
BK(10511)=236,0%CD(M92,1)%IXY2-36,0%CD(M2253)8ZX2Y
RK(10412)236.0%CD(My2,2)82XY2-36,.0%CDO(M92,3)%2Y3
BK(11911)=36,0#CD(My151)#ZX2Y2+36,0%CD(Ms353)%2X4

2 ~72.,0%CD(My1,3)%2X3Y
BK(11512)236,0%#CN(Ms1,2)%ZX2Y2+36,0%CD(Ms3,93)%2X2Y2
3 =36, 0%CD(My143)%ZXY3-36.0%CD(M22,3)%2X3Y
BK(12912)=236,05CD(My252)%ZX2Y2+36.,0%CD(M»3,3)%72Y4

4 ~72.0%#CN(Ms2,3)#ZXY3

N0 2250 Jzb,11

1J=0+1

NG 2250 K=1J512
AK(KsJ)=BK(JsK)
CONTINUE

THICK3 = TH(M)x#3/12.
N 2251 1=1,12

N0 2251 J=1,12
AK(Is =K (T s JIRTHICKS

N0 101 I=1»12
30 101 J=1,12
AACT9J)=0,0
FSM(1+J)=0.0
CONTINUE

20 22 1=1,24
N 22 Jz124
SMCTsJ)=0,0

MNA=]

NO 210 I=1s4
I1=KAKOM(My 1)
XIT=X(I1)
Yi=sy(1n

AA(NAS1)=1.0
AA(NA2)=XI]
AA(NA3)=Y]
AA(NAs4)=XT3%2
AACNASS)Y=XT3#YI
AA(NAY6) =Y T2
AACNA,7)=XT#%3
AA(NASB)=XI323Y 1
AA(NA9 ) =XTsY [ #3%2
AA(NAS10)=Y ]33



aEakal

102

104

107

106

108

110

109
103

STEAXNOHITRITCETA v /5 A

AA(NA,11)=X]#u3%Y]
AA(NA,12)=XI3Y %3
NAz=NA+1
AA(NA»3)=+1,0
AAINAsS)=eX]
AA(NASR)=+2,0%Y]
AA(NAB)=+X] %42
AA(NA»9)=+2,08X]xYI]
AA(NAL1I0)=+3,D8YINN2
AA(NAS1L)=+XT#%3
AA(NAS12)=+3, 03X TY 342
NA=NA+]
AA(NAS?)==1,0
AACNASGY=-2,0%X]
AA(NAyS)==Y]
AA(NAY7)==3 0%X]#%2
AA(NAYR)==2,0XI3%Y]
AA(NASQ )=~y ]2
AA(NAS11)=-3,0%XTu2%Y]
AA(NAY12)=-Y1#%3
NA=NA+1

CONTINUE

NNz12

DO 102 K=1eNM
INR(K ) =K

NO 103 K=1y4NN

Ww=0,0

DD 104 I=KsNN
IF(ABS(AA(T1)),LE, W) 6D TO 104
W2 ABS(AA(T»1))

IR=1]

CONTINUE

IFCIR,FQ.K)Y GO TN 106

00 107 J=1sNN

WzAA(KyJ)

AACKs JIZAACLIRY )
AACIRy J) =W

Mpz IND(K)

IND(K)=INDCIR)

INDCIR)=MP

W=AA(Ks 1)

NN1=sNN=1

DO 108 J=1»NN1

AA(Ks JY=AA(K J+1) /W
AA(KsNN)=1,0/W

D0 109 [=1sNN

IF(I,EQ,K) GO TO 109
W=zAA(I» 1)

DO 110 J=z1sNN}L

AACT 3 J)sAA(T» J+1)-WHAA(KSJ)
AACT sNN)==WHAA{KINN)
CONTINUE

CONTINUE

DO 111 K=1sNN]

IFt(K.EQ, IND(K)) GO TO 111
KyzKel

DO 112 I=KUsNN
IF(K.,NE,IND(I)) GO TO 112
IR=1

113



114 it BB A

GO TO 114

112 CONTINUE

114 DO 115 J=1sNN
W2AA(JLK)
AACJsKIZAA(Ss IR)

115 AA(JsIR) =W
IND(IR)STNN(K)
INN(iK) =K

111 CONTINHE

Ng 2750 1=1,12
Ng 2750 J=1,12
2750 TR(I+J)=0,0

DO 2800 1=1,12
ng 2800 J=1,12
GT=BK(T131I%AA(T s J)+BK(1+2)%AA(25J)+BK(T193)%AA(3))
1 +BK(Ts4)%AA(4,J)+BK(T,5)%AA(S5,J)+BK(196)%AA(6,))
TR >I=GT+BR (12 7)5AA(T75J)+8K (T 98)%AA(BsJ)+BK(I9)3%AA(9))
2 +RK(T910)3#AA(102 ) +BK(T911)HAACLL»J)+BK(T912)%AA(12y))
GT=0.0
2800 CONMTINUE

c
Ng 3400 1=1,12
N0 3800 J=1s12

ARCO=zAA(L s 1IRTROL,JI+AA(2 1 )XTE(2,0)
1 FAA(S [ )RTR(Z33JI+AACLY 1 IRTA (4, ))
ABCD=ARCN+AA(S 1IRTB(5s ) +AA(6s | ) %TH(HJ)
2 +RA(T S 1IRTB(T7,J)+AA(B, 1I#TB(8,J)
FSM(T9J)= ARCR+AAC(Os II#TRB(92 ) +AACLIDIIRTR(10,J)
3 FAA(LT s T RTR(11 I FAACLIZ22TI%TR(1I2, D)
ABCN=0.0
3200 COMTINUE
C
C
C
I=1
Jaz=3
35 JB=JA+?
30 50 JsJAyJR
TA=1
KA=z%
25 CONTINUE
KRzKA+2
N0 30 kK=KAsKH
SMCJsKISFSM(T,1A)
TA=]A+1
30 CONTINUE
KA=KA+4
IF(KA,GT,24) 6N TO 20
50 Tn 25
20 I=1+1
50 COMTINUE
JAz=JA+6E
IF(JA,GT,24) GO TO 51
GO TO 35

51 CONTINUE

[aXsNa)
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10

RETURN
END

STE A F N DOMTBITCEET5 7 e /7 A 115

SURROUTINE ESMPL

CgMMON
COMMON
COMMON
COMMNN
COMMON
COMMON
COoMMON
COMMON
COoMMON
CoMMON
CaMMON
COMMON

NODTONELTHRATNSMUDSNDIMLs [JUsNsMaNOEF MM ARZ1(20)
EMX(10)sEMY(10)sPOX(10)>POY(10)9GXY(10)» 1FP(170)
X(170)sYCL170)sZ2¢170) 2 IXDCL70),1YD(1I70)5170C170)518X0(170)
SM(24324)ESM{125172)sESPLIRB) 3K1(24),1XND(170)1SYD(170)
KAKOM(100+5)sD(59353), CD(1005353)s A(50000)
LCANCL1009492)s NCONC100s4)sEI(5)s FA(5,3)s H(5)y TH(10M
AA(12,12),RK(12512)5TB(12,12) 5 IND(24),MAT,NUM,JAL(452)
EXR(593)y FXT(593), GK(5,3)s BR(533),NRINEND,NMsMX,NLOAD
TPZ,RARYNCALSDELTXsDELTP»SLIP1sNSTsUPPERINREPRIMEND
EXCoFYTrsPTXePTYsGTXYsT(5)sTA(H00)s XxV(25)5AV(25)
SK1(5)sSPACEL(5)sRNW1(9) 25K (5054)+sSPACF(5054),ROW(40s4)
IB1(20)sABX(20) s ARY(20)2AB7(20)2ARSX(20) ,ARSY(20)ABXX(20)

VT=1,0-PTX#PTY
TD11=EXC/VT
TD12=PTXHEYT/VT

TD21=TN1

?

TO?22=EYT/VT
TD33=GTXY

TI=KAKNM(Ms1)
JJ=KAKOM(M2)
KK=KAKOM(M,3)
LL=KAKOM(Ma4)

XI=X(11)
XJ=X0JJ)
XK=X(KK)
Xp=x(LL)
YI=Y(II)
YJd=sY(JJd)
YK=Y (KK)
YL=Y(LL)

Do 10 1=
DO 10 J=

1,8
1,8

BK(I1+J2=0,0

AACT» D)=

TB(IsJ)=

0.0
0,0

EsplL(1sJ)=0.0

CONTINUE

XJ13%J=X1

YL1=YL~Y

1

XJ22XJH3#2-X]%3%2
YL23YL##2-Y ] 3#3#2
XJ3sXJ#u3=-X]%x%3
YL3=YL#R3-Y]#%3

8K(2+2)
BK(2:4)
BK(2+7)
BK(21+8)
BK(3:3)
BK(314)

=TD11 #XJI%YLY
=0, ,5%TD11 #XJL#YL2
2TD12 #XJI#YLY
=0,5%TD12 #XJ2#YLL
=TD33 #XJIYL]
20,5%TD33 #XJ23YL 1



116 it % B =

BK(356) =BK(3,3)

BK(3:8) =0,5%TD33 #XJIHYL2

RK(4s4) =TD11 #XJ1#YL3/73,0+TD33 ®XJ3#YLLI/3,0
BK({4s6) =BK(34)

AK(4s7) =0.5%#TD12 ®XJ1H#YL2

RK(4>8) =0,25%(TD12 +TD33 ) HXJ2HYL2

BK(6>6) =TD33 #XJLYLL

AK(61+8) =RK(3+8)

AK(7,7) =TD22 #XJ1YLL

AK(728) =0,52TD22 #XJ2nYL1

BK(8sB)Y =TD?2 #XJ3#YLL/3,0+TDR3 #XJL1#YL3/3,0

No 200 Jz1+7

Tu=J+1

00 200 K=1J,8

AK (K J)=RK(JsK)
200 CONTINUVE

A=

N0 210 I=1+4
TI=KAKNM(Ms 1)
X1=X(11)
YI=Y(I1)

ApACHNAL1Y=1,0
BA(NAS3)=Y]
Ap(NA,2)=X]
AA(NA 4 )Y=XTRYI]
NAzNA+]
AA(NASIS)=1,0
AALINA A )=X1
AA(NAS7)=Y]
AA(NAZR)=XTnY]
MA=NA+T

210 CoOnTINGE

SIN=R

N0 102 K=19NN

102 IAN(K)=K
) 103 K=1.NM
Nz0,0
NG 104 [=KyNN
IF(ARS(AA(T»1)) LE. W) GO TO 104
AZABS(AA(]l+1))
IR=1

104 CONMTINUE
TFCIR,FE,KY GO TN 106
nNg 107 J=1sNN
d2AA(KeJ)
AM(KJ)SBA(IF . ))

107 AACIRsJ)=w
AP =IND(K)
IAD(K) =MD IF)
[ND(IR)=MP

106 WzBAA(K»1)
NNTENN-L

Ng 108 J=1>NN}
108 AA(K»J)=AA(KsJ+1)/W
AA(KINN)=1,0/W
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[aEal

109
103

112
114

115

1
2
250

3
4

255

35

25

30

20
50

EIEAFAVOHITBACE T3 v 75 A

00 109 I31sNN

IF(1,E0,K) GO TO 109
WzAA(T,1)

DO 110 J=1sNN}

AACT 9 J)ZAA( T2 J+1 ) =WHAA(KJ)
AACTsNN) =«WHAA(KINN)
CONTINUE

CONTINUE

DO 111 K=14NN1
IF(K,EQ,.IND(K)) GO TO 111
Kiy=K+1}

N0 112 I=KUyNN
IF(K,NFLINDCT)) GO TD 112

IR=]
a0 T0 11le
COMTINUE

DO 115 Jz1snNN
WsAACJIK)
AA(JsKYSAA(ISIR)
AA(s [R) =W
INNCIRYSIND(K)
IND(K) =K
CONTINUE

No 250 1=1.8
D0 250 J=1-8

TBI,J)SRKOT s 1IRAACL,J)+RAK(T,2)%AA(2,J)+RK(1,3)%AA(S3,J)
+RK(T96)3%AA 4y J)+RK(T»5)3AA(D, JI+RK([+6)3AA(Hy J)

CAK(T2»7)5%AA(T ) +BKL128)%AA(BJ)
CONTINVE

10 255 1=1+8
N0 255 J=1+8

DATNA SAALT DI ETB(L s ) +AA(2, I RTB(Z,J)+AA(3, [I1TB(35U)
LAALA LI RTRUA,JI+AA(S, 1IRTRIS,JI+AA(6, ) #TR(6,U)
+AA(T [ IRTRB(79 ) +AA(8 [ IRTR{B8J)

ESPLIT»J)=NAINARTH(M)

CONTINUE

I=1

JA=1

JRz=JA+]

Ng 50 JsJAWJR

Ia=1

KA=1

CONTINUE

KB=KA+1

N0 30 K=KA,KB
SM(JsKIZESPLUT s TA)+SM(JsrK)
IAz]A+]

CONTINUE

KA=KA+A

IF(KA,G6T,24) GO TO 20

GD TDO 25

I=1+1

CONTINUE

JAzJA+H

IF(JA,GT,24) GO TO 51
GO0 TO 35

117
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o)

AN

51

200

CONTINUE

RETURN
END-

SURRNUTI
CoMMnN
COMMON
COMMON
COMMON
CoMmMON
COMMON
CoMmiin
COMMON
COMMON
COMMON
CoMmnn
COMMPON

JAL(Ls1)
JAL(142)
JAL(251)
JAL(2y2)
JAL(3,1)
JAL (3,2)
JAL (45 1)
JAL(4,42)

Do 350 L

Dg 200 1
ng 200 J
AA(T )=
ESM(1y )

IC = NCO
IF(IC,.Fu
IT=LCONC
JJ=LCaon(
XI=X(11)
XJ=X(JJ)
YI=Y(1])
YJ=Y(JD)

AL = SAR

STIFFNFS

N1 = SK(
TH1 = (H
Cl = TH]l
Gl = D1
D11

D12
n21

N1
Dl
ni

it B A

NE RIB

NOPTaNELT,RAINSMUDSNDIMLIs 1JJsNsMsNDEE yMMsARZ1(20)
EMXCL10)sEMY(10)sPOX(10)sP0OY(10)sGXY(10)s IEP(170)
X(170)sY(170)22(170)s1XDC170)1YDC170)51Z0C170)s1SXU(170)
SM{24924) sFSM(12512)2ESPL(B8)9K1(24),TXDD(170)51SYD(170)
KAKOM(100,5)90(5353353), CD(100+323), A(50000)
LCHNCI00s492)s NCON(10094)sEI(5)s EA(553)y H(5)y TH(100)
AA(17912)sRK(12512)2TB(12512) 5 IND(24) 4MAT4NUMJAL(452)
EXH(593)y FXT(533), GK(553)s BR(5353)3NBINEND,NMaMX,NLDAD
TP2 sRAB S NCAL s DELTX»DFLTPsSLIPIosNSTHSUPPERINREPRIMEND
EXCoFYTHrPTXsPTYsGTXY s T(5)2sTA(600)» XV(25)5AV(25)
SK1(5)18PACEYI(S)ROWL(5) 95K (5094),SPACE(5054),ROW(5014)
IB1(20)9ABX(20)sABY(20)sAc7(20)9A3SX(20),ARSY(20),ABXX(20)

1
2
2
=3
=3
=4
=4
=1

Lzly4

=112
z1-1?7
0,
=0,

N{MyLL)
L0) 60O TQ 300
Myl bsl)
Myl 2)

TOOXJ=XTIn#2 + (YJ=-YI)%*2)

S MATRIX OF TwOo-LAYERED wOOD BEAMS CONNECTED WITH NAILS

MyLL)IRROW(M,LL)/SPACE(MyLL)
(3)-H(1))/2,0

¥D1

THI##2

#AL/3,
#¥ALZ6.
2



D22 N11

A1l
Al2

EACI

A21
A22

al?
A1l

R11
81?2
321
A22

Rp12
Rl1

El1
F12
F13
El4
E22
F23
E24
£33
£34
Eaa

12,3

-E11
E12
4, %E
-£12
?%E
Fl1
-E12
F22

(TS T T T Tt T L S T O}

C1i
C1?
c132
Cla
c21
c2?
€23
c24

-C1/
- C1#
-C11
-C12
cl1
-C12
-C11
cl?

W OH Ot

GK11l = (6K

ESM(151)
ESM(14+3)
FSM(1+5)
ES%(1,56)
ESM(1,7)
ESM(1,9)
ESM({1s11)
ESM(1,12)
ESM(3%y3)
ESM(3,45)
ESM(346)
ESM(3,7)
ESM(3,9)
ESM(3,11)
ESM(3,12)
ESM{444) =
ESM(4,10)
ESM(545)
ESM(546)
ESM(54+7)
ESM(5,9)
ESM(5,411)
ESM(5,512)
ESM(6496) =
ESM(647) =
ESM(6,9) =
ESM(6511)
ESM(64+12)

Ny

[ TR TR I |

G515 R A DEFRIICET 575 75 A

Cs1)/ALEN1N

-FA(ICs1)/AL+D12

EA(IC,2)/7AL+011
~EACIC»2)/AL+D12

EICIC) ZAL##3+GI%6, /(5. #AL)

-6, #ET(IC)Y/ALXX2-G1/10,

ICICY/AL+GI%2 , #ALZLS,

T(CIC) /AL ~-G1%AL/ 30,

7.
ALZLZ.

(ICs1)+GK(1C»2)) %6,/ (5, ®AL)

All
Cli
ciz o
-D11
Al2
Cc13
Clsa
-b12
El1
El2
-Cl1
2?1
E13
= E14
= ~C21
GK11
-GK11
E22
~C12
€22
E23
E24
~-C22
B11
-Di2
-C13
= -Cl4
= 812

119
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ESM(7,7) = A
ESM(7,9) = C23
ESM(7,11) = C24
ESM(7,12) =
FSM(9,9) = E33
ESM(9,11)
ESM(9912)
FSM(10+10)
FSM(11511)
FSM(11,12)
FSM(12,17)

N3 20 J=1s11
TJd=J+1
NG 20 k=10,17
20 ESM(K, ) = ESMIJsK)

CS = (xJ-xI)/AL

AA(1s1)=CS
AA(252)=CS
AA(353)= ],
AA(434)=CS
AA(595)=CS
AAC6961=CS
Ap(757)=CS
AA(858)=(CS
AA(959)= 1.
AA(10,10)= CS
AA(11s11)= CS
AAL1?512)= CS

00 215 [1=1»17
ng 215 J=1-12
KT =0,
) 215 K=1.12
215 RK(Isd) = BKOT»J)+BA(K [ IRFSM(K )
N0 220 I=z1912
g 220 J=1.12
ESM(TsJ)=0.
10 270 K=1912
P20 FS¥(leJ) = ESM(1a)+BK(IsKINAA(KSY)

200 COMTINUE

N0 340 I=1.2
NO 340 Jz1s2
<1 = (JAL(LL>I)=1)%6
Kg = (JAL(LL»J)=1)¥6
Ta=(f=1)%6
H=(J=1)%6
fi} 340 K=146
g 340 L=1s6
KlkzK]+K
Kl =K J+L
I8Kk=18+K
JeL=JR+L.
340 SM(KIK,KJL) = SHM(KIK,KJLI+ESM(IBK,JBL)
350 CONTINUE
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360
365
370

375

621

625

SIBE AR NVOMTBNCETA R /5 & 121

I1=KAKOM(M»1)

JJ=KAKOM(M»2)

KK=KAKOM(Ms3)

LL=KAKOM(M,s4)
IFCIEP(II).EQ,1)Y GO TO 360
SM(6+6)=1,

IFCIEP(JJYY.ER, 1) GO TO 365
SM{12s12)=1,
IFCIEP(KK),ER,1) GO TO 370
SM(18,18)=1.
IFCIEP(LL)Y.EG,1) GO TO 375
SM(24424)2,

CONTINUE

RETURN
ENn

SURROUTINE STORE

MEMBFR STIFFNESS MATRIX AKT INTu THE APPPUPRIATE POSITIONS
NF THE LOWER HALF-BAND LINEAR ARRAY A,

COMMON  NODTsNELTsRAIN>MUDINDIML s [JJsNsMyKOEF s MM, ARZ1(20)

COMMON  EMX(10)sFEMY(10),POXC10),PUY(10)sGXY(10)Ys IFP(170)

COMMON XC170)oY(L70)9ZC170)20IXDCL70)9s1YD(170)5120(170)»1I8XD(170)
COMMON  SM(24,26),ESM(12912)ESPL(R9R)sK1(24)»1XDD(170)s1SYDC170)
COMMON  KAKOM(10055)5D(553,5,3)y CU(1005353)s A(50000)

COMMON  LCONC1005452)5 NCONIL100,4)5E1(5)s EA(S523)y H(5)y TH(100)
COMMON  AA(12512)9BK(12512)5TB(12512) 9 IND(24) sMATSNUM, JAL(492)
COMMON  EXM(553)s EXT(593)s GK(533)y BR(5,3)sNASNENDSNMyMX s NLUIAD
COMMON  TPZyRARINCAL»DELTX,NDELTP9SLIP1,NST,UPPER,NREPR s MEND
COMMON  EXCHEYTHPTX,PTY,GTXY>T(5)2TA(O00)s XV(Z5),AV(25)

COMMON  SK1(5)sSPACELI(5)sROW1(5) sSK(50:4)sSPACE(50,4) sROW(S0s4)
COMMON IBI(?O)’ABX(?O)’ABY(?O)aABZ(ZU),ABSX(ZO)9AHSY(20),ABXX(20)

IF(MUD.EQ,Nn) MUD=1
MM=MUD+1

NS=MUDUMM/2

NG 621 L=1,NOEE

T=Kk1(L)

ND 621 K=1,NOEE

JzK1(K)

IF¢I.LT.J) GO TO 621
IF(1,GE . NDIMLI,OR,.J.GE NDIM1) GO TOg 621
LL=J+(1-MM)¥MUD+NS

IFCILLE, MUD) LLzd+(i-1)%1/2
A(LL)=A(LL)Y+ SM(LsK)
CONTINUE

WRITE(hs625) LL
FORMAT(1HO»12HLL OF STORE=,17)

RETURN
END
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[

c

435

4510

455

470
475

SUBROUTINE LOAD

COMMON NODTsNELT,BAINIMUDINDIML»IJJsN»MyNOEESMM,ARZ1(20)

COMMON  EMX(10)sEMY{10)sPOX(10)sPOY(10)2GXY(10)s [EP(170)

COMMON X (170)2Y(170),2(170)»1XD(170),1YD(170)»1ZD(170)»1SXD(170)
COMMON  SM(24924)sESM(12:12)»ESPL(858),K1(24)sIXDD(170)51SYD(170)
COMMON  KAKQM(100,5)9D(59353), CD(100+353)s A(50000)

COMMON LCON(100+452)s NCON(100+4)5EI(5)s EA(593)y H(5)s TH(100)
COMMON  AA(12512),BK(12,12)>TR(12,12),IND(24),MAT,NUMyJAL (442)
COMMON  EXB(5393)s EXT(593)s GK(533)s BR(553)sNByNENDsNMsMXsNLOAD
COMMON  TPZ,RAB,NCAL>DELTXH>DELTPsSLIP1sNST»UPPER»NREPRSMEND
COMMON  FXCHsEYTsPTXsPTY»GTXY»T(5)sTA(600)y XV(25)5AV(25)

COMMON  SK1(5)3SPACEI(5)sROWI(5)s85K(50+4)ySPACE(S5054)»ROW(5054)
COMMON  1B1(20)9ABX(20)sABY(20)2ABZ(20)sABSX(20),ARSY(20),ABXX(20)

WRITF(657) NByNEND»NMyMYD
FORMAT(1HOQ»3HNE=, 155 10X»SHNEND=,15510X»3HNM=515510Xs4HMUD=415)

N0 435 I=NHINEND
A(1)=0.

WRITF(6s45D) NST
FORMAT(1H1,»'STAGE="',13)

WRITE(A»455)

FORMAT(1HO» ' INCREMENTAL LOADY/1H +'NODE',3Xs *X=-FORCE ' 93X
# s 'Y-FIRCE?' 33X, ' 7-FURCE " 91Xy "SX=MOMENT* 31X ' SY-MOMENT?
3 92Xs *XX=FORCE") '

NG 470 L=1sNLOAD

JE1B1(L)

KI1=IXP(J)+NM
K2221YD(J)+NM
K32=zT1ZD(J)+NH

K46z 1SXD(J) 4NN
K55=z1SYD(J)+hm
KeA=IXDD(J)Y+NM
TF(K11,6T,8DIML) KIT=ND]H]
TF(K22,6T ., n01M1) K22=NDIM]
IF(K33,GT,HDIML) K33=NUIML
IF (K44 ,GT NDIMT) Ka4zNNIM]
TFIKBS5,GT ,NDIMT) K55=ND[M]
IF(K66.6T,MDIM1)  Kéb=hDIM)

A(K11)=ARX(L)
A(K22)=ARY (L)
A(K33)=ARZ(L)
A(¥44)=ARSX (L)
A(K55)=ABSY (L)
A(KH&)=ARXX(L)

WRITE(69875)  JsABX(L)sABY(L) »ABZ(L)sARSX(L)sABSY(L)2ABXX(L)
CONTINUE
FORMAT(IH s14y6F10.2)

RETURN
END
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CH¥#
Ci3es
Cast
CHaest
333
3
Cie33t

30

7
105

103
104

19

71

68

Sv

co
co
Co
€o
co
co
co
co
Co
co
co
co

Do

18
MU
NS
NM
IF
Al
IF
I'n
l.=
G0
IN
L=
IF
"5
G0
M5
51
J1
J2
IF
no
T1
S1
L=
T1
I¢F
T1
A(
IF
Do
Su
IF
IN
LL
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BROUTINE CHOLES

MMON NODToNELTsBAINSMUDINDIMIaIJJsNsMINOEE ,MM3ABZL(20)

MMON  EMX(10)sEMY(10),POX(10)sPUY(10YsGXY(10)s [EP(170)

MMON  X(170)sY(170)52¢170)21XDC170)1YD(170)21Z0(170)518XD(170)
MMON  SM(24524)sESM(12,12),ESPL(B,8),K1(24),1XND(170),15Y0D(170)
MMON  KAKOM(100,5)2D(59393), CD(1009353), A(50000)

MMON  LCON(1005452)s NCON(10094)2E1(5)y EA(5,3)s H(5)s TH(100)
MMON  AA(12512)3RK{12512)sTB(12,12),IND(24),MAT,NUM,JAL (4,52)
MMON  FXB(553)s EXT(593)s GK(5923)s BR(553)sNRINEND>NMsMXsNLOAD
MMON  TPZ,RAPFYNCALSDELTXsDFLTPsSLIP1sNSTH>UPPERINREPRIMEND

MMON  EXCsFYToPTXsPTY»GTXYsT(5)sTA(L00)s XV(25),AV(25)

MMON  SK1(5)sSPACEL(5)sRAWLI(5)»SK(5094),SPACE(5024),ROW(5090)
MMON  TB1(20)sABX(20)9ABY(20)sAB7(20)2ABSX(20) ,ARSY(20) sABXX(20)

UBLE PRECISION S1»T1
A 1S THE ARRAY CONTAINING THE ELFMENTS OF THE LOWER HALF BAnD
NF THE SYMMETRIC STRUCTURE STIFFNESS MATRIX,
N = NMUMBER OF FQUATIONS 0OR NUMRER OF UNKNOWN DISPLACFMENTS,
MMz HALF BAND WINTH + DIAGONAL ELEMENT 0R MypD+1
1B ¢+ 1 = NCO, OF RIGHT HAND SIDF VECTORS,

IF 1 OR LESS MATRIX IS FACTOKED., IF GREATER THAN 1
FORWARD AND-BACKWARD SUBSTITUTIUNM PERFORMED,
S1 AMD T1 ARE TEMPORARY DOUURLE PRECISION VARTARLFS,

=0
N=MpM=-]
= MUD#MM/2
=IN¥MM=NS
(1JJ=1) 30,530,311
20 Jsl,N
(J=MUD)Y 15152
=J=-MUD
IN+( J=MM)#MUD+NS
™ 7
=1
IN+(J=1)%0/2
(J=N+MUD) 1035103+105
=N |
T0 104
= J+MHD
=0,0
=J-1
=J+1
(J1) 4y443
6 K=INsJl
=A(L)
=S1+T1%T]
L+1
=A(L)
(T1-S1,LT,0,) GO TN 100
=DSQRT(T1-51)
L)=T1
(Je-N) 19520220
18 I=J2-M5
M=0,0
(1-MUD) 68968571
=]=MUD
=[N+ ([-MM) #MUD+NS

Go T0 5

IN
LL

=1
=IN+(I-1)%1/2
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5 IF(J1) 18+18+8

8 IF(IN-J1) 53,53,18

53 D0 17 K=IN»J1
LM=L+K~J
SUMzSUMSFA(LL)#A(LM)

17 Li=Lt+1

18 AcLLy=s(ALLY=-SUMY/Za (L)
20 CONTINUE

YRITE(69650) LL
650 FORMAT(1HO»14WLL OF CHOLES =117)

CHa% REGIN FORWARD SURSTITUTION,
31 NR=[P+1
NBsNM+1
DO 65 K=1sNR
A(NB)Y=A(NB)Y/A(])
00 60 =2,
[FCTI-M0) 21e21922
22 INz]-MMm
KS=IN$#MUN+RS
M5=MUD
a0 TO 27
21 In=z0
M5zl-1
KS=u&tl/?
27 Sum=En,
ng &1 Jzls"5
JR=J+ "
L=JR+KS
JR3JF MR-
61 SUMISUMLA(L)IRA(IR)
I0=]+Ks<
60 A(JR+1I=(ACYR+1)=S1M)/ZA(LD)
65 “BzNR+M
Cotes REGIN BACKWARD SURSTITUTION
NBNMeN
N0 15 Ks1eNR
A(NRBY=A(NB)Y/ZA(MM)
N 30 T1=2+i
=h=11+1
TFCT=MUD) 41941995
95 0=+ (1=MMIRMUDNS
G0 TN 42
41 ID=I1+(1-1)%1/2
42 TF(]=-N+MM) 43,435,545
45 “5=11=1
G50 TN 76
43 MB5=MLID
76 Syms=n
N0 81 J=1.15
dRz1+y
IF(JP=MUN) 9K+98,99

99 Lzl+{(Jr=MM)#MUD+NS
50 TO R2

GR Lal+(YyR=1)3tJR/2

82 JR=NR=N#+J R

81 SyMzSUM+A(L)#A(JR)
JR=NR~N+1
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80 A(JRI=(A(JR)=-SUM)IZA(ID)

15 NB=NA+N

RETUPN

100 WRITF(69G01)
901 FORMAT(IH +*'STIFFNESS MATRIX IS NQT POSITIVE DEFINITE HALT THIS
#PRNBLEM, ")

5Top
END

SURROUTINE QUTPUT

COMMON
COMMON
COMMON
COMMON
COMMON
CoMMON
COMMNN
COMMNN
COMMON
COMMON
CoMMON
CoMMON

NODTsNFLTaBAINMUDZNDIML, TJJ5N, My NDEE s MM, ARZ1(20)
EMXCIN)SEMY(10),POX(10)sPUY(LI0)2GXY(10)s 1FP(170)
X(170)sYC170)9ZC170)sIXDCLT703s1YDC170),1Z0UC170)ISXU(170)
SM{24924)3FSM(12912)ESPL(RB)»K1(24)5IXDD(170)2ISYD(170)
KAKOM(100:5)90(55393)y CD(100s393), A(50000)
LCAN(1002452)s NCONCIQ054)sET(5)s FA(S93)y H(S)y TH(1GN)
AA(12512)3BK(12:12)5TB(12912) s IND(24) s MATyNUMy JAL (492)
EXP(55,3)s FXT(553)s GK(553)s BR{Ss3)sNRyNENDsNMyMXsnLIAD
TPZsRABINCALsDELTX9yDELTP,SLIP1ZNST,UPPER,NREFPR,MENT
EXCoEYT3PTX3PTY,GTXY»T(S5) 3 TA(ENO) XV (25)sAV(25)
SK1(5)sSPACEL(S)sRPWI(5) 15K (50s4)sSPACE(S024)9ROW(50s4)
TRI(PO) s ABX(20)9sABY(20)5AB7(20) sABSX(2C)sARSY(20),2uXx(20)

A(NDIMLY =0,

TakZ=0,
0 900
TARZ =

900 ABZ(D)

I=1sNLOAD
ARZ (1)

ARZ(T)+RARARZL(])

TP7 = TP7 + TaR{Z

WRITE(65915) MST,TRZ,TAdZ
915 FORMAT(LIHO»'TOTAL LOAD 08 STAGE='»13/1+ 210X, 'TP72'F10.2

#

210X ' TARZ=,F10.2)

WRITE(65020)
920 FORMAT(1HO, *NUDE s 7Xs " X=NEFLEC ' 97X 'Y-DEFLEC'97X» ' Z~DEFLEC'

%*

28Xy PSX-ANGL ' 95X *SY-ANGL ' 36Xy "XX-DEFLEC' )

NO 930 I=1sNODT
K11=1XD(])+NM

K22=1YD(T)+NM

K32z]70(1)+NM
K44=15XD(1)+NN
KS5zISYD(])+nM
KohsIXDDOT)+MMm

TF(K11,6T ,NDIMY)Y K1ll=NDIM)
IF(K22,6T,NDIML) K22=NpIM]
IF(K33,GT,NDIML)  K33=nDIM]
JF(K44,GT NDIML)  Ka4a=NOIML
IF(K55,GT,NDIM1) K55=NDIM]
IF(K66.GT NDIMI) Keb=NDIM]

11=6%]~5

12=211+1
13=]1+2
T4=11+3
15z]1+4
16=]11+5

TACI1)=BAIN®TAC(I1)+A(K]11)
TACI2)=BAIN®TAC(I2)+A(K22)
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TACI3)=BAIN#TA(I3)+A(K33)

TACIG)=BAINXTA(]4)+A(K4E4)

TA(IS)=BAIN#TACIS)+A(K55)

TACI6)=BAIN®TACI6)+A(KES)

WRITE(65935) TsA(KI1)sA(K22)9A(K33)»A(K44)IA(K55)A(KES)
930 CONTINLIE

935 FORMAT(1H »1421PKE15.5)
C
ARITF(A5950)
50 FORMAT(1HOs *NODE ' 56X ' TX-DEFLECY »6Xs ' TY-DEFLEC 96X ' TZ-DEFLEC!
3#* 27X s 'TSX-ANGL " 97X 'TSY=ANGL ' 55X 'TXX-DEFLEC! )

a0 960 1=z1aN0ODT
[1=63%1=5
12=11+1
13=11+2
T4=11+3
15=]1+64
16=11+5
960 WRITE(69935) TsTACIL)sTALIZ2) s TACIR)»TACIG) »TALIB)STACIS)
IF(MEND,EQ,1) GN TO 1000

NP1sNCAL+]
NP NPT/ ?
p2zhNPY+l

N0 980 Mz1,LNFLT

NG 980 1=1+4

IC = NCON(Ms])
TF(IC,FG.0) GO TN 986
V=l CON(Ms151)

L=l CON(MyT52)

K0=6%K-5

Ka=KN+5

Ll=6#L-5

Le=L1+5

XK
XL
xS

ARSITA(R())+ARSITA(KSE))
ARS(TA(L1))+AAS(TA(LS))
XK

u on o

TF(XS.,LT.SLIPL)Y @GN To 980

Bo1=0,

Pp2=0,

pp3=n,

PD4z0,

¥S = XS+PELTYX
C 3343 3636 36 3¢ 363 3¢ ¢ TANGENT #0ODULUS 33633 R

N0 970 [1=1sNP2

PN1 = PD1+AVII1)I%XSH¥XV(I1)
U1 = XV(11)
Uz = ui-1,

PP = PDI+LITIHAV(TL)XSHHUIZ

970 CONTINUE

Do 975 J1sNpP34NCAL

PD2 = PD2+AV(J1)#XSHUXV(IL)
Hp1 = XV(J1)

Jp2 = UP1-1,

PD&. = PD&4+UPLAV(J1)3#XSH*yP2

975 CONTINUE



ST~ AN OWMTBHTCETS 7R F & 127

Pp2=1,+PN2
SK(My 1)=PD3/PDN2-PD1%PDL/PD2#:2
C
980 CONTINUE
C
WRITE(H985)
985 FORMAT(L1HO» "NEXT STAGE VALUES'/1Hy"NELM'35%X, "' 564Xs"SK(Ms[)'51X
# s 'SPACE(MsT) " 93X, 'ROW(My1)! )
D 990 M=1sNELT
00 990 I=1.4
TC=NCON(M, 1)
IF¢IC,FQ,0) GO TO 990
NRITE(63995) Myl 3SKIMs])3SPACF(MyT)sRNW(M, )
290 CONTINUE
995 FORMAT(1H ,215,1P3F11.2)
C
1000 CONTINUE
c
RETURN
FND

3.2.1 SUBROUTINE INPUT
KAKOM(, ) : ERDH SRS,
BAIX, BAIY : figo x B8, yEECHT 51X,
UPPER : #§E L 1ofific 30 % z HAMHED LRME, RAB: HEMSOLDOME (@i
1.OTHEW),
BAIN: n+ 1 A5 ~PRBT 50 BEEARDH DR, nAT—~VETDIHIRESE s =

l210. 5a-ig GE%ET W, BAIN (3 = 0&%0.5% R,

L : fis&s, IXR, IYR, IZR, ISXR, ISYR, IXRR : &iSZMr (W, Vi, Wi, Oxy, Oy,
up) OWEEEYELTA VT 7 ATHEADLORIT 1R ARD, X(L), Y(L) : fifo
X EER T O YEEE, 1S AT, BREETALENERTA VT AT, BT D
BE&XIS=1, 25 ChvBaRIs=0 <,

EMX(®D), EMY(D) : BEH DA<V HHR LI OFh EBEAFRAOMT ¥ 7k K, POXD),

POY(D) : EH DA AV HR, SLOthiBEAFAOAT Y v, GXYD) : Hito3EH#H
wE, TQ : @HoEX,EXC, EYT : @HOR AV HE, 8L0Th EEANROFIERY
v a3, PTX, PTY : @HO R AvHE, BIOFhEBANAOAXT7 Y vk, GTXY:
T D B MR CR B

BRI, EXB(L D, EXTA D, GKA,)D) : 2 BEIBERERC KT 2 EH (B, A v HED
BT, 3IOBERY VY 7 RE, BEEEGRE ¥EbH T,

HQ) : BHOESR, ~3x10BI%5RT,. ThbbHL=0, HO=EHDES, HB)=
HQ)+BRomxET%,

SK1(D) : & b &%, SPACEL(D) : &TRfE, ROWL(D) : 1575,

LCON(M,IL,JL) : BAROHIE~ } Y » 7 AZXEAHOTHCHRA L DAV 2HAES Y A
FTH B, BidD KAKOM(L,)) iz B TANT %, Flxif Fig.1 wow 'C‘Bit‘?‘
& Table 1 Ok 51cies,
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Table 1. Reading of LCON (M, IL, JL).

M LCON (M, IL, JL)
1 1 2 2 9 9 3 8 1
2 2 3 3 10 10 9 9 2

3 4 4 11 11 10 10 3

12 13 14 14 21 2t 2 20713

NCON(M,IN) : EAMERD 4 20T K\ T, BREETIHENETT. BT5881
1%, £5ThVWEHERZOXARS (ETOHATELACEL, REFE D CHEE). Hlzil
Fig.1 1=\ it Table 2 0k 512/c 5,

Table 2. Reading of NCON (M, IN).

M NCON (M, IN)

1 0 0 0 0
2 0 0 0 0
3 o 0 0 0
11 0 0 1 o
12 0 0 1 0

NLOAD : fHEAMEAL T\ 5 Him OB,
IBI(L) : ffEAMERL T 58&%FS, ABX(L), ABY(L), ABZ(L): xhZh xJH (M
M), YHE, z HEOKE,
ABSX(L), ABSY(L) : Zh FPh Xk L O'V#iE by O He— 2V b,
ABXX(L) : x i (BAH) HE, '
AV(D : (2.12) KBTHEH C, c¢ XFEHT,
XV(D: (2.12) RestsiEH1, 2, 3, 4, 1, 2, 3%%T,
SLIP1 : g1 35l 13— » AR A 2 R BiRic 3 B Rckiz v &, DELTX: (2.12) R
it 54S, DELTP: (2.12) Rk} 54P,

3.3 Al

Fig.1 i3l 2 S 2818 H AL DERER=FATH D, ZDAFALROWT, RHIR
~CETDT RS S5 ARY DEFLULHEALRT, HHC X ) 26&D 1/4 O\ TFEHTT
B ERL, AVWERBITL2, MEABIR21TH D,

129~130=_~ : AIF~ %,

130~131R— : AF~2 1 L20THELWLFHE, 2HSENRS IORAT - TEHERECH
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Element division for the finite element method.

Note : Finite element analysls conducted on a quarter

of the specimen.

CORBOMTI, BAWLE&MKD 1/4% 52T %,

NODE.  IXR1YR 7R [SX® ISYR TYRR X1 Y)Y LEP
1 1 1 Q 1 1 0 0. Q. 0
? 0 1 0 1 o 0 150.00 0. 0
3 0 1 0 1 u n 3n0,00 0. 0
4 0 1 1 1 6 o 450.00 e. 0
5 0 1 0 1 v 0 600.00 0. 0
6 0 1 0 1 ) ] 750.00 0. 0
7 0 1 0 1 4 o 900,00 0. 0
a 1 0 0 n 1 [4 0. 103,50 0
9 0 0 0 o 0 0 150,00 103,50 0
10 0 4 0 il 0 0 300,00 103.50 (]
11 0 0 0 n 0 n 450,00 103,50 0
12 0 0 0 o 0 4 600,00 103.5¢6 0
13 0 o 0 n 0 0 750.00 103.50 0
14 0 0 0 2 0 0 900.00 103.50 0
15 1 0 0 0 1 1 0. 207.00 1
16 0 0 1] n 0 o 150.00 207.00 1
17 0 n 0 0 1] 0 300.00 207.00 1
18 0 0 0 " o 0 450.00 207.00 1
19 0 0 0 n 4 0 600,00 207,00 1
20 0 0 0 al [0 0 750.00 207.09 1
21 0 0 1 fn 1 0 900,00 207.00 1
NQDT= 21 NELT=z 12  Nyrz 2 MAT= 1 MyD= 5 - MEND= 35 NREPR= 18
ELEM  KAKOM(1yJ9K,L) MAT
1 1 9 R 1
2 2 3 10 S 1
3 3 4 11 10 1
4 4 5 12 1] 1
5 5 6 13 12 1
6 6 7 14 12 1
7 8 9 16 15 1
8 9 10 17 16 1
9 10 11 18 17 1
10 11 12 19 1R 1
11 12 13 20 19 1
12 13 14 21 20 1
NO. EMX EMY 3 PY XY
1 9,74000E+02 ?.,92200E+02 3,00000E~01 3.,00000E-01 3,86000E+01
NUM EXB(I) EXTCD) GK(1) RRC1)
1 974,000 714,000 38,600 36,900
2 927.000 927,000 55,620 36,900
NUM HED)
1 0.
2 7.90000
3 92.10000

NCAL= 7

7,90000E400
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130 i B O# A
ELEMENT AND LCON(MsILsJL) NCON(Ma])
1 1 ? 2 9 9 8 8 1 0 0 0
2 2 3 310 10 9 9 2 0 ¢ 0
3 3 4 4 11 11 10 10 3 0 ¢ 0
4 4 5 5 12 12 11 11 4 0 0 0
5 5 6 6 13 .13 12 12 5 0 0 ¢
6 6 7 7 14 14 13 13 6 0 0 0
7 8 9 9 16 16 15 15 8 0 0 1
8 9 1n 16 17 17 16 16 9 0 [ 1
9 10 11 11 18 18 17 17 10 0 0 1
10 11 12 12 19 19 18 18 11 o 0 1
il 12 13 13 20 20 19 19 12 n 0 1
12 13 14 14 21 21 20 20 13 0 0 1
MAT  NuM ELCD) EALT» )
1 1.70E+09
1 208138,132A81
2 2880170.37500
NELM 1 SK(Ms1) SPACE(M»1) ROW(M, 1)
7 3  5.53E+02 1,50E+02  1.00E+00
8 3  5.53E+02  1.50E+02  1.00E+00
9 3 5.53E+02  1,50E+02  1.00£+00
10 3 5,53E+402  1,50E+02  1.00E+00
11 3 5,53g+02 1,50F+02  1.00E+00
12 3 5,53E+02  1,50E+402  1,00E+00
4HNODE  X~FDRCE  Y~FDRCE  2-FORCE SX=MQMENT SY-MOMENT XX~FORCE
18 0, 0. -12,50 0. 0. 0.
NCAL AV(]) XVl
1 ~1,47078F+01 0,10E+01
2 1,80598E+01 0,20E+01
3 2,10918F+01 0,30E+01
4 -2.48537E+40] 0,40F+0)
5 ~3,03698E+00 0,10F+01
6 3,46448E+00 0,20€en1
7 ~1,442B0F+00 0.,30E+01
NREPRe 18 UPPERz 500,00 RABZ 1.0
SLIP1= 0,02 DELTX= 0,96 NELTP= 0,88
NB= 4030 NEND= 4133 MME 4029 MyDz 50
STAGE= 1
INCREMENTAL  (DAD
NODE  X-FORCE Y-FNRCE Z-FIRCE SY=MOMENT SY-MOMENT XX-FORCE
18 0. o, -12,5%0 a, 0,
TOTAL LOAD ON STAGF= 1
Tar2= “12.50
NODE X-LFFLEC Y-NEFLFC Z-DEFLEC $X=anGy SY-ANGL

1 0, 0. -7.66973E-01 0. G.

2 =3,002226-0% 0. -7,42642E-01 0. ~3,23956E-04

3 -5,782B7£-03% 0. -h,70624E-01 0. -6£.35033E-04

4 “R,14147E-03 0. -5,53672E-01 0. ~9,08NGQE=(4

5  -9,91009E-0% 0. -4,01498E£-01 2. -1.10503E~03

6 -1,08781F=-02 Q. -2.78416E-01 0. -1,21RB6E-03

7 =1,15A3%F.07 v, -4 B THAE -2 6. -1.230556-03

L] o, S.A20RgF-ng -7,71189E-01 “B,05113F =05 0,

9 =4, 077H0E-0R 5.549795 a4 -7 ,47349¢-0) -8,97249F =05  ~3,17063E-04
10 =7,46R39€-03 4, 7a945Fng -h,76798E~01 ~1.10472E-04 -h,3031RE=~06
11 -1,10952F-02 3,5R524Fps =5 ,99644F-01 -1.08749E-04  -9.17934E-04
12 -1,%5600E-02 2.79151F 04 -64,04]34E-01 ~4.93850E-0%  -1,14324E-03
13 -1,50096£-07  -2.1A3%2F-n4 =2 P1R69E-0} 6.34677E-05  -1.26R2BE-03
14 =1,57806£-07 2.17552F-n3 -2, H8733E-¢? 2.16994F-04 -1.29084E-03
15 0, 1.713678-n3 =7, ,R3253E-01 -1,50010E-04 0.

16 «7,439#2E-05% 1,6%9R87¥-n3 =7 AQAHTE-(] -1.66195€-04 © -3.01621E-04
17 -1,46775£-07 1.50116F-03  -4,92313F-01 -1.931A9E-04  -6£.12377€E-04
18 ~2,136475-02 1.22171F-n3 -5,7567%E-01 -2.001B5E 04 -9,43180F-04
19 -?,68107F-07 9.379316-n4  -4,11765E-01 -9.50354E-05  ~1,22586E-03
20 «%,03964F~0? ~5.67098F «n5 -2.,14060E-01 7.49070F =05 ~1.39099£-03
21 -3,17476E-07 3,246458F -n3 a2, 3.046506-04 -1.464530£.03
NEXT STARE VALUES
NELM 1 SK{Ms1) SPACF(My]) RAw(Ms])
7 3 5.53E+02 1,50F+02 1.00E+00
A 3 5,53E+02 1,50F+02 1.00E+Q0
9 3 3.11E+02  1,50F+n2  1.00E+00

10 3 2.29E+07  1,50F+02  1,00E+Qn

11 3 1.9BE+02  1,50F+32  1,00E+00

12 3 1.89E+02 1.%50F+12

1.00E+00

DO CODOCE OO0

XX-NEFLEC

2.47138F-03
4,82565E-03
6.92338E-03
8.58207E-03
9.63538E-03
9.99497F=03
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INCREMENTAL {0DaD

NODE
18

z
o
=
m

OV N NS WN

18
29

X=-FORCE Y-FORCE L-FARCE SX=-MOMEMT SY~#(MErT  XX~FORCE

0, n, -250,00 n, 0, o,
TOTAL LOAD ON STAGF= 20
TaRZ= =2480.00
X=-DEFLEC Y-OFFLFC Z-DFEFLEC SX-ANGL SY~-AMGL XX«DEFLEC

0, 0. -2,163%32E+01 0. 0. 0.
-1,55443E-02 C. -2.N9376E+01 Q. -9,25157€-03 0.
=2,99394E~02 0. =-1,%8800E+01 0. -1.80553E-02 Q.
-4,22309€-02 [ ~1,55769€+01 0. ~2.57058E-0? 0.
~5,15284E~-02 0. ~1,12691E+01 0. =-3,12750€-02 0.
=5,67151E-02 C. -h,31125E+00 0. ~2,42R00E~02 0.
-6,02308E-02 0, =1,11519E+00 [ ~3,45894E-02 0.

a, 2.72138F -n3 ~2,17633E+01 -2.48066F <05 0, 0.
~2,10170E-02 2.70861F«n3 ~?2.,10788E+01 =2.67271F=~-03 ~9,10820£-03 0.
~4,08239€~-07 2.53555F-n3 ~1,90621E+01 -3.07469F =03 ~1,79912g-02 0.
«5,77432E~07 2,057155-n3 =1.,57272E+0) -2.87166F~03 =?2¢60014E-02 0.
-7,05570E-02 1.63%4R2F.n3 -1,13364E+01 -1.26301F=05 -2,21957€-02 0.
-7.79753E-07 -9,19098F-n4 =h,21713E+00 1.77202F~03 ~3,56189E-02 g.
-A,16581E=-07 1.06150F-n2 -7,937076-01 5.96399E-05 -2,62385£-02 0.

0, 9,12443F<n3 =2.,71329E+01 “4,5h754E-0% [ 0.

-4, 44767502 8,77939F-03 =?.14743E+01 -4.86938k-0% -f,79235E-03 1.38500F =02
-8,33530£-02 7.7R478F =03 =1,94r9RE+01 -5.39444F-03% ~1.76923£-02 2.63209F=~02
-1,14939%-01 6,17911F-r3 =-1,A1583E+01 =5,2876QF=03 =2.67593k-0? 3,609726-02
~1.38%42E-01 4.64020F-n3 ~1,1533CE+91 -2.4R003F=3 -3.43R866E-07 4, 44431F =02
«1,53179€-01 ~2.51847F -4 =5, 6QR28E+0D 2.07%602F =03 =3,R9540E-07 4.921R8F =02
=1.58810E~01 1.97302F=n2 i, B.513228-05 ~4,06753E-07 5. 0A339F=n2

1

NEXT STAGE VALUES

NELM

© P~

1)
2)
3)
4)
5)
6)

7)

8)
9)
10)
1)

SKI{Ms[) SPACF(Ms1) R (s )
G.,36E+0) 1,50F 02 1.00E+g0
6.45€+01 1.50F+02 1.00E+00
4,99E+01 1, 80F+02 1.00F+00
4,20E+01 1,50€+02 1.00E+00
3,79E+01 1,50F+02 1. U09E+00
3.66E+0Y 1,50F+92 1.00E+0w
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Summary

The object of this paper is to develop a computer program to predict the ben-
ding behavior of a nailed stressed-skin panel.

The procedure used is a finite element method, the stiffness matrix of the panel
is derived by using a rectangular plate element for the skin and a two-layered beam
elment for the rib. A load-slip curve for a nailed joint in single shear is approxi-
mated with a continued fraction. In the numerical solution procedure, a load-incre-
mental method is applied, and the slip modulus for each individual element is ree-
valuated as the slope of the tangent of the above continued fraction.

A listing of the program written in JIS FORTRAN language is given, and
moreover its input and output data for example panel are also given.





